
perma UNIVERSAL ACCESSORY KIT  #110372
Art. No. Description Kit Qty

REDUCER
109953 Reducer R1/8 male x G1/4 female (brass) 10
109954 Reducer R1/4 male x G1/4 female (brass) 10
104836 Reducer R3/8 male x G1/4 female (brass) 6
109845 Reducer 1/4 UNF male x G1/4 female (stainless steel) 10
109846 Reducer 1/4 UNF male x G1/8 female (stainless steel) 10
104876 Reducer M6 male x G1/4 female (stainless steel) 10
109847 Reducer M6 male x G1/8 female (stainless steel) 10
104839 Reducer M8 male x G1/4 female (brass) 10
104841 Reducer M10 male x G1/4 female (brass) 10
104840 Reducer M10x1 male x G1/4 female (brass) 10

ANGLES
109853 Angle 45° R1/4 male x G1/4 female square (brass) 6
104828 Angle 90° M6 male x G1/4 female (brass) 10
109849 Angle 90° R1/4 male x G1/4 female (brass) 15
109851 Angle 90° R1/8 male x G1/4 female (brass) 10
109850 Angle 90° R1/4 male x G1/4 female square (brass) 10
109852 Angle 90° R1/8 male x G1/4 female square (brass) 10

STRAIGHT / EXTENSION
109848 Extension 50 mm R1/8 male x G1/4 female (brass) 6
104855 Extension 45 mm G1/4 male x G1/4 female (brass) 10
109697 Extension 50 mm M6 male x G1/4 female (stainless steel) 6
109854 Extension 50 mm 1/4 UNF male x G1/4 female (stainless steel) 6

GREASE NIPPLE / PLUG ACCESSORIES
101493 Tapered lubricating nipple R1/4 male 1
109683 Relief valve G1/8 male (0.35 bar) 10

HOSE & CONNECTION ACCESSORIES
109684 Purge connection with manual valve G1/4 female 4
101554 Hose connector G1/4 male for hose iØ 9.5 mm - push-lock (steel, zinc-plated) 6
104852 Hexagon-nipple R1/4 male (brass) 4
110025 T-Adapter 3 x G1/4 female (brass) 4
107633 Hose prefill adapter for Heavy Duty hose 1
110199 Hose with rotary joint, slide and hydraulic coupling for grease gun 1

SUPPORT ADAPTERS
101427 Support flange FLEX Gen 2.0 G1/4 male x G1/4 female (brass / plastic) 5
109420 Support flange STAR Gen 2.0 G1/4 male x G1/4 female (brass / plastic) 5

MOUNTING ACCESSORIES
109957 Beam Clamp 30 mm (stainless steel) 2
109958 Beam Clamp 65 mm (stainless steel) 2
109679 Screw M10x16 10
109682 Washer 10
110200 Hexagonal nut ISO 4032 - M10 10
110201 Hexagonal nut with non-metallic insert DIN EN ISO 7040-M10 10

MISCELLANEOUS
110547 perma LABEL MARKER 1
110278 50 ml Bottle Loctite® 243™ thread sealant (medium strength) 1
103184 Cable tie 2.5 mm x 200 mm 10
103003 Hose cutter 1
101351 Battery pack STAR VARIO 5


